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ECONOMICS
( Honours Core )

Paper : ECO-HC-4026

( Intermediate Macroeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
Co] PPTRd Ted fra

(a) What is endogenous growth?
EEe [Pr 2

(b) Mention one assumption of Solow
model.

5'a’ HIf2q bl HfSYRen SrEe 341 |
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(c)

(d)

(e)

(g)

(b

A23/853

( 2)

Consumption function expresses the

Felatlonship between consumption and
investment.” Is it true?

e FEE e W RN e e
52 B B Rt B2 ) i )

Who introduced the permanent income
hypothesis?

TR S SO @I TeRe IR 0

What is inventory investment?

sIsR Rszae 2

What is monetary policy?
I TS =2

Wh-at is time consistency of monetary
policy?
41 R 797 ey F 2

T‘Central bank of a country prepares
its fiscal policy.” Is it true or false?

“om 9 T @ TR R NS ame
FE I G S & ) 2

( Continued )

2. Answer the following questions :

( 3)

() Mention one classical assumption.

41 TS SfSyre TEY 391 |

() Name one new-Keynesian economist.

g - (o AR A fora |

2x5=10

were i 2P Ted il

(a) Mention WO limitations of Harrod-
Domar model.

23’ T-T IR HIE 75 TRzl SEy 41 |

(b) Mention two assumptions of rational
expectation hypothesis.

qfeere oo SEEIE o WS Soe
4] |

(0 What is meant by residential
investment?

st Rivanst 3o & w2

(d) Mention two objectives of monetary
policy.
T A o1 Tree Tewy ¥4
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[ % )

fe) Mention two features of new classical
thoughts.

T MEE SRYRR o1 (IM8T TCEY 41 |

3. Answer any four questions from the
following : 5x4=20

TS PR |1 R e wif i oe Tee fomen

(a) Explain the limitations of Solow model.
58 WIE AgRmerz Il 341 |

(b) Explain the technical attributes of
Keynesian consumption function.

TP €SI Foa JII BFTIZ T 347 |

(c) Briefly explain the random walk of
consumption expenditure.

CSI1% I TR (A& ST AT 341 |

(d) Explain the main determinants of
demand for money.

TR ST 24 ez amam F4 |

A23/853 | ( Continued )

(S5)

(e) Distinguish between active and passive
monetary policies.
A TF owArE T WM IR onedm fef
411

(/ How did Keynes differ from the
classicists? Explain.
AT SRR @FFp [F2e 4932
A0 <41 |

4. Answer the following questions : 10x4=40

eTs il 2repTEd e fr

(a) Critically discuss the Harrod-Domar
growth model.
RT-TIR [er W A A=A
HICEAA] 41 |

Or / 941
Discuss the relationship between
technological progress and elements of
endogenous growth.
e wAf® wE wwEhe R[RerA
TOAMPTYZ & F4F SCAD 4] |
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(6 ) ()

(b) Discuss critically the permanent income | Or / 92T

hypothesis. '
= Discuss the main features of classical

7 R SETACD! FACAAI I school of macroeconomic thought.
97 |
TR HAAEE SRYAE WS (N6A T
Or / 31 Eqﬁrﬁm:[z AT 41 |
What are the determinants of business
fixed investment? Discuss. | i
TR &3 Rica ez & & 2 s
P91

() Critically discuss the Keynesian
consumption function.

Wﬂ@ﬁmwww
<91 |

Or / 37

Discuss the ‘government budget
constraint’.

‘BIFIRI ATEHB AT WA T |

(d) Discuss different types of government
debt. What is Ricardian equivalence?

7+3=10
PRl R fifey AP SICAG 3937 |
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